
Variables: Algebraic Expressions VI (E-4)
CHALLENGE

Name:

Time: Score: /

209)

((0× 3÷ (−7))÷ (9y))÷ ((18÷ 9− (−9) + (−8))) =

210)

(x + 10 + 21÷ 7× ((6y × (−2)) + 16z ÷ (−8))) =

211)

(3z × (−8y))× (((56÷ 7) + 5÷ (−1) + 0z + (−5))) =

212)

10x× 7÷ ((6 + (−7)÷ 7)× (6 + (−4)))− 4y =

213)

(16− 0y × (60÷ (−10))− 2y − 0y ÷ (10z − (−6x))) =

214)

((0× 8− (0x× (−9x)× (−6x))− (−6z))) + 21÷ (−3) =

215)

(0 + 5x + 6x + (−1y)− (0÷ 4− 0y − (−8))) =

216)

(8x× (−8)÷ ((9 + 4÷ (−4)))) + (2z + (−7)− (−10)) =
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